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Time Allowed: - 
03 Hours. 






Max. Marks: - 100 

Note: - 
There are 3 sections in this paper i.e A, B and C. Attempt Section – A on the question 
paper and return it to the Superintendent in the given time. No marks will be awarded for 

Cutting, Erasing & overwriting .  Marks of identification will lead to UFM case Mobile 

Phone etc are not allowed in the examination Hall. 
Time: - 
20 Minutes 


 ( SECTION – A)



Marks: - 20
Q.1: -A) 
Write the correct option a,b,c and d in the space provided against each part.   (07)
i) For any two sets A and B  
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ii) If z= 3+4i then  
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= _______. 
a) -3+4i
b) 3-4i

c) -3-4i

d) 3+4i
iii) The semi group (G, *) is called a ___________ if it contains the * identity of G. 
a) Groupiod 

b) Monoid 

c) Group 

d) None of these

iv) Matrix A is Skew- symmetric if At = ______.     a) A 

b) At

c) A-1
   d) -A
v) Nature of roots of the quadratic equation depends upon the ______ . 
a) Co-efficient 

b) Discriminant 
c) Constant 

d) None of these

vi) 
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 Radians = _________. 

a) 90°

b) 360°

c) 120°

d) 180°
vii) 
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__________
 
a) Sin θ
b) Cos
θ
c) Tan θ
d) Sin π
B)        Fill in the blanks. 








(07) 

i. A complex number is zero if and only if its _________________.

ii. Sum of cube root of unity is __________________.
iii. If At = A then A is called _______________ matrix.

iv. The A.M of 4 and 16 = _______________.

v. Cos 2
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 = _______________.

vi. 
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vii. 
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C) Select the correct answer of each statement in Column – I from Column – II and place its 
identifying letter a,b,c etc in space provided against each statement in Column – I     (06)
 
	
	Column – I 
	
	Column – II 

	i)
	 If 1, -1, 1, -1, …. The 7th term is ___
	a)
	4

	ii)
	0! Is equal to ______
	b)
	-1

	iii)
	Number of partial fractions of  is ___
	c)
	1

	iv)
	Value of = _______
	d)
	

	v)
	 is equal to _______
	e)
	Zero 

	vi)
	Period of Tanx = ______
	f)
	3


Khyber PakhtunKhwa Board of Technical Education Peshawar

DBA Part – I (New Course)

Model Paper 
Paper: - Mathematics – I 
-------------------------------------------------------------------------------------------------------------------------------
Time: - 
2.00 Hrs & 40 minutes





Marks: - 80
Section – B



(Marks: - 40)
Q.No.2: - 
Attempt only eight parts. Each part carries only 05 marks. 
i. Divide 4+3i by 2+5i 
ii. If U = {1,2,….,6},  A = {2,4,6}, B= {1,3,5} Prove that; 
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iii. Prove that (G, .) is an abelian group where G = {1,w,w2}, w is the cube root of unity and “.” Is the ordinary multiplication. Write only two steps. 

iv. If A= 
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 Find AB 

v. Find the sum and product of roots of the equation 
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vi. Decompose into partial fractions :
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vii. Find the sum of the first 100 even positive integers.

viii. Prove that 
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ix. Find period of 
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x. For a triangle ABC, given a=30, b=70, 
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Section – C



(Marks: - 40)

Note: - 
Attempt any 04 questions from this section. Each question carry 10 marks. 
Q.No.3:-  
Find real and Imaginary parts of  
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Q.No.4:-  
Use Cramer’s rule to solve the following system of equations. 


x-2y = -4 



3x+y = -5



2x+z = -1 

Q.No.5:- 
Find the middle term in the expansion of  
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Q.No.6: -   
Show that  
[image: image22.wmf]a

a

a

3

sin

4

sin

3

3

-

=

Sin


Q.No.7: -   
Solve the equation  
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